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1)  All questions are compuisory.
2) Figures to the right indicate marks allotted.

Explain the meaning of any SEVEN of the following terms in not more than

five lines each: 14
1)  Promoter

2)  Amalgamation

3) Handicapped workers

4) CGSI

5) Corporate Image

6) Diversification of Business
7) Closure of Business

8) Turnaround of Business

9) Social Audit
10) Foreign Collaboration

Answer any TWO of the following : 12
a) Explain the steps involved in setting up of a new business unit.

b)  What are the effects of Industrial sickness ?

c) What are the causes of closure of business ?

Answer any TWO of the following : 12
a) Explain the indicators of growth of business.

b)  Explain the types of business expansion.

c) What are the advantages and limitations of MNCs?

Answer any TWO of the following : 12
a) Explain the rights of consumers. '
b) Explain the need and importance of Social Audit.
¢) Explain the factors affecting Corporte Image.
OR
Write short notes on any TWO of the following : 12
i)  Voluntary closure of business
i)  Need and Importance of Consumer Movement
iii) Business Combinations
iv) NGOs.
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